> Tl s W N

SHSEE REHMIA Pa=-7RIEEETEFER
L

5l a "EE BRE LR e RS ) AR ‘ﬁ'ﬁ
4 12| K|P2=7nitgEs 14 HENET=RIG 4 19 00 ~ 21 00 24
4 14| &oa=7RiEE: 14 FENET =R 4 | 19 00 ~ 21 00 | 24
4 119 | K|Pr=7nitgEs 14 HENET=RIG 4 19 00 ~ 21 00 24
4 (21| €oa=7RiEEs 14 FENET =R 4 | 19 00 ~ 21 00 | 24
4 126 K|or=7nitEEs 14 HENET=RIG 4 19 00 ~ 21 00 24
4 28| &loa=7RiEEs 18 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
5 (10| K[oa=7aigEs 14 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
5 12| &loa=7aieEs 14 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
5 (17| K|oa=7aigEs 14 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
5 (19| &loa=7aieEs 14 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
5 (24| K|oaz=7migEs 14 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
52| &loa=7aieEEs 14 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
5 (31| K[oa=7aiegEs 24 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
6|2 |&lviz7uiazEs 24 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
6|7 |K|paz7riazEs 24 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
6|9 |&lviz7uiazEs 24 FEARTZRIG 4 | 19 00 ~ 21 00 | 24
6 | 14| Kloaz=7rituze 23 FENET RIS 4 |19 00 ~ 21 00 | 24
6 |16 &|oa=7nituzs 23 FENET RIS 4 |19 00 ~ 21 00 | 24
6 |21 Kloaz=7uriuze 2@ FENET RIS 4 |19 00 ~ 21 00 | 24
6|23 &loaz=7riuzse 2@ FENET RIS 4 |19 00 ~ 21 00 | 24
6 |28 Kloaz=7uiuze 2@ FENET=RIG 4 |19 00 ~ 21 00 | 24
630 £|oaz=7uiuzse 2@ FENET RIS 4 |19 00 ~ 21 00 | 24
715 | Klpaz=7aiezse 23 FENET RIS 4 |19 00 ~ 21 00 | 24
117 | &lpaz=7aezse 28 FENET RIS 4 |19 00 ~ 21 00 | 24
7112 Klpaz7aiuzsse 2@ FENET RIS 4 |19 00 ~ 21 00 | 24
7114 &lva=7niteEse 28 FENET RIS 4 |19 00 ~ 21 00 | 24
7119 Klpaz=7aiuze 2@ FENET RIS 4 |19 00 ~ 21 00 | 24
7121 &loa=7aitezse 28 FEAET R 4 |19 00 ~ 21 00 | 24
7126 Klpaz=7aiuzse 2@ FEAET R 4 |19 00 ~ 21 00 | 24
7128 &loaz=7aiuzse 2@ FEAET R 4 |19 00 ~ 21 00 | 24
8 (16| K[|o2=7migEs 3# FEAET R 4 |19 00 ~ 21 00 | 24
8 (18| &|o2=7®itgTs 3# FEAET R 4 |19 00 ~ 21 00 | 24
8 |23 | K[|oa=7migEs 3# FEAET R 4 |19 00 ~ 21 00 | 24
8 |25 | &|oa=7RitgEs 3H FEAET R 4 |19 00 ~ 21 00 | 24
8 (30| K[|oa=7migEs 3# FEAET R 4 |19 00 ~ 21 00 | 24
9|1 | &lvaz7riezs 34 FEAET R 4 |19 00 ~ 21 00 | 24
9|6 | K|loaz7riuzse 3@ FEAET R 4 |19 00 ~ 21 00 | 24
9|8 | &lvaz7uiuzs 3m FEAET R 4 |19 00 ~ 21 00 | 24
9 | 13| K|oa=7niezEs 31 FEAET R 4 | 19 00 ~ 21 00 | 24
9 |15 | &|oa=7niezEs 34 FEAET R 4 | 19 00 ~ 21 00 | 24
9|20 K|oa=7niezEs 3@ FEAET R 4 | 19 00 ~ 21 00 | 24
9|22 &|oa=7uiEEs 34 FEAET R 4 | 19 00 ~ 21 00 | 24
9| 27| K|pa=7niezEs 3@ FEAET R 4 | 19 00 ~ 21 00 | 24
9|29 &|oa=7niEEs 34 FEAET R 4 | 19 00 ~ 21 00 | 24
10| 4 | K|oa=7nEEs 38 FEAET R 4 | 19 00 ~ 21 00 | 24
10| 6 | &|oa=7ritezs 34 FEAET R 4 | 19 00 ~ 21 00 | 24
10 11| K|pa=7nEEs 38 FEAET R 4 | 19 00 ~ 21 00 | 24
10 13| & |oa=7nitezs 34 FEAET R 4 | 19 00 ~ 21 00 | 24
1018 | K|oa=7nEEs 34 FEAET R 4 | 19 00 ~ 21 00 | 24
1020 | & |oa=7nEEs 38 FENET =R 4 | 19 00 ~ 21 00 | 24
10|25 | K|oa=7nazEs 38 FENET-RIE 4 | 19 00 ~ 21 00 | 24
10|27 | & |oa=7nEEs 38 FENET =R 4 | 19 00 ~ 21 00 | 24
M| 1| K|pa=7nazms 38 FENET =R 4 | 19 00 ~ 21 00 | 24
11| 8| K|pa=7nEzEs 38 FENET =R 4 | 19 00 ~ 21 00 | 24
1110 &|oa=7nEEs 38 FENET =R 4 | 19 00 ~ 21 00 | 24
11123 | Kfpa=7uitgls 44 (&5 NTERFEZEMI— 3 9 00 ~ 13 00 24




> o1~ W N

12| 2 | 2 |oa=7uitaEs 48 (23 NTERfFZZBMa— 3 9 00 13 00 | 24
|12 3 | £ pa=7HiaEs 44 (25 NTERfFZZBMa— 3 12 30 16 30 [ 24
12 9 | X Joa=7uitaEs 48 (23 NTERfFZZBMa— 3 9 00 12 00 | 24
1216 | X |Joa=7uritaEs 48 (23 NTERfFZZBMa— 3 9 00 13 00 | 24
12| 28| 2 |oa=7uitaEs 48 (23 NTERfFZZBMa— 3 9 00 13 00 | 24
17| Bfpa=7ritaEs 48 (&35 NTERfFZZBMa— 3 9 00 13 00 | 24
1113 | L |Pa=7ritaEs 48 (&35 NTERfFZZBMa— 3 9 00 13 00 | 24
1120 £ |Pa=7ritaEs 48 (&35 NTERfFZZBMa— 3 9 00 13 00 | 24
1128 BlPa=7aitEEs 48 (2% NTERMFZEZBEHI—+ 3 9 00 13 00 24
2 | 3 | Pz T7riEEs 48 (D) NTERMFZEZBEHI—+ 3 9 00 13 00 24
2 10| £ |Pa=7ritEEs 48 (£F) NTERMFZZBEHI—+ 3 9 00 13 00 24
2 17| £ |Pa=7oitEEs 48 (&5 NTERMFZZBEHI—+ 3 9 00 13 00 24
2 | 24| o= T7RitEER 48 (£2F) NTERMFZZBEHI—+ 3 9 00 13 00 24
32 | xPaz=7ritEEs 48 (D) NTERMFZZBEHI—+ 3 9 00 13 00 24
319 | Paz=7ritEEs 48 (£F) NTERMFZZBEHI—+ 3 9 00 13 00 24
3 16| £ |Pa=7ritETEx 48 (25 NTERMFEZBEHI—+ 3 9 00 13 00 24
3 23| £ |Pa=7ritEER 48 (£F) NTERMFEZBEHI—+ 3 9 00 13 00 24




